1270 HOMEWORK #3 prob 5 solution U
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Find ik, v1, and the power dissipated by the dependent source.

saln: First, we observe <hot L, Flows +hry all
3 resisters sLnée ‘l:IwE:y are Lh Serced.

Fekher tthan f:Le-Hn"th veltaged Jor ever
1‘t'.'.5'|'.-5‘|:--::"|'J we A 3 use Chm's law EA]PEC‘I:[J}-"
e Adefine the 'u'dl'[:aﬂﬁh ag w=L &, Apte

That the + gud — S-.ﬂjﬂﬂ of Lhe I-'.::-.H'EE:?E.
mEasyrements myett d.ée.}.- Hhe II,.MEFE;L'E !'-f_jm
Cenpesteer: e curredt aron  suct peint
toward The - sign aF  Hhe L'-.nu'i"mf et S of e wieiTt,

J-"-Hmfﬂj Za ¥ leap e;.ﬁ'isf e Aidddver that
all (eopsr pmazs Thrd durrent Saurdesd, meaay
we  shoulel  aveid writing Hese vbap eghs,
Nete: epen -ﬁﬁ.:qjﬁ the desendant durcent sarve
is (abeled with a .'.-"-an:IJPJ.- wre sAanld
aye il H—‘-‘iﬁj e A e .ﬁ’wf::c:l,.n. I.-ufe:q;{,
we <aa  solke Fhe cirdait First aad
2+hen  Find Ky .



We Aemw  write 4 currert-sum egh  For He
'[:"F_ deater rode:

~5L, + BmA + i, = O0A
ar 4Ly = BmA
or Ly = ZmA

Mew  Wwe use o V-Llaop araund. +he outside

of the &ircait ko find v

=V, - ix ko - L, 20k -, 0KE +EOV =0V
or v =~'L?c[:15'1-m~_+ 'ml_r.ﬂ_ﬂnhi‘lw Lay
=—ZmA WE RO + LAY
=~ Aoy + LoV
v, = — 30V

The polier toir  the .::'llal:uahelﬂn"b sourde LE

P= L= 3L,V = sfzmﬂ}{—aw'j

P = = 3400 sl



